Good Version (no notable waiting)

[image: image1.png]Num | Source Address | DestAddiess | Summary Length | AbsTime
7 1921680209 1524680.176  1CEP [TCP Rewansmissin] Requssi16) 03134335 E4SE-4EZ1-8675-AICCTAFAMESD co_pina) 12 1esaosesnses
2 1921680476 1521690205 Top: 10000 » 5370 [ACK] eqeé 15 Acke1 469 Wine33550 Le @ aszossorses
3 12168017 1521680208 10EP TCP Rewansmission] Reph(1E) Sucess 1 esaoseozese
50 1921660205  1524690.176  ICEPI [TCP Ruwansmissin] Rediese(L T 09134336 E4GE-4E21-9675-ASCCTAFAAEED.Crsea) 127 iesaosessist
1 121680M76 1521680208 1CEP [TCP Rewmnsmission] Reph(i7): Success 12 iesaoseonsis
52 1921680205  1524690.176  ICEPI [TCP Ruwansmissin] Redssse(1 6 SS6ECFCE-3C22- 487 1-A2561C6832872TRDice_ish) 1 iesaosesaios
3 121680M76 1521680208 1CEP [TCP Rewansmisson] Reph(ie) Success 0 wsaoseriis:
G4 1921680209 1521680.17  ICEP [TCP Rewansmissin] equssi(i3)s 03134338 E4SE-AE21-8675- ATCCTAFAMERD co_sina) 1z iesaoseztes
S5 121680M76 1521680208 1CEP [TCP Rewansmisson] Reph(i3): Success 1 esaosezerss
56 1921660209  1524690.17  ICEPI [TCP Rutwansmissin] Rediese(20)s 09134336 E4SE-4E21-9675-ASCCTAFAAEBD.Crsea) 127 iesaosezszer
7 i21680M76 1521680208 1CEP [TCP Rewansmisson] Reph(20) Success 12 iesaosezedrs
S8 1921680209  1524680.17  ICEPTCP Ou-OF Order] Reques(21) BODEOCEA-T1S0-4A45-3B5C:DSOFECOFTSD.ce_IsAD 1 iesaosezases
5 1521680476 1521680205 1GEP [TCP Out-OF Order] Repl(21) Success 0 iasaoseszcos
41 1921680209 1524680.17  TCP: 3370 » 10000 [ACK] Seq1335 Ackn313 Win-84523 [TCP CHECKSUM INCORRECT] Len=0 s iasaosszsors





Client: 209

Server: 176

Bad Version (waitings of approx. 2 seconds)

[image: image2.png]Num | Source Address | Dest Address | Summary Length | Rel Time Delta Time. AbsTime
175 1921680209  152168.0.120  ICEP: Close connection 68 00:00115.806.582  00:00:01.042.948  14120:34.591.54
176 192068020 1521680209  TCP: 10000 > 3286 [FIN ACK] Seq=0 Ack=14 Win=33349 Len.. 60 00:00:15.808.590  00:00:00.002.008  14120:34.593.55
177 1520680209 1521680.120  TCP: 3266 > 10000 [ACK] Saq=14 Ack=1 Win=64ST6 [TCP C.. 54 00:00:15.308.653  00:00:00.000.063  14120:34.593.61
180 1920680209  1521680.120  TCP: 3266 > 10000 [FIN ACK] Seq=14 Ack=l Win=64576 [TC.. 54 00:00:15.573.845  00:00:00.000.821  14120:34.658.81
181 192068020 1521680209  TCP: 10000 > 3286 [ACK] Saq=1 Ack=13 Win=3334 Len=0 €0 00:00115.674.485  00:00:00.000.640  14120:34.699.45
182 1920680209  152168.0.120  TCP: 3326 > 10000 [SYN] Seq=0 Len=0 S 2 00:00:15.575.193  00:00:00.000.708  14120:34.660.15
183 192068020 1521680209  TCP: 10000 > 3326 [SVN, ACK] e 2 00:00:15.575.947  00:00:00.000.754  14120:34.660.91
184 1920680209  1521680.20  TCP: 3326 > 10000 [ACK] Saq 54 00:00:15.575.952  00:00:00.000.035  14120:34.660.94
185 192168.0.20 1521680209  ICEP: Validats connsction 68 00:00115.884.041  00:00:00.008.055  14120:34.669.00
186 1924680209  152.468.0.120  ICEP: Request(l): 3853EIDF-53F3-4BD3-9AC1-FADES20B8S.. 128 00:00:15.895.011  00:00:00.010.570  14120:34.679.97
187 192068020 1521680209  ICEP: Reply(L) Success 7 00:00:15.397.585  00:00:00.002.574  14120:34.632.55
185 1924680209  152.468.0.120  ICEP: Request(2): 3853ESDF-53F3-4BD3-9AC1-FADESZ0BSS.. 127 00:00115.898.098  00:00:00.000.513  14120:34.683.06
185 192168020 1521680209  ICEP: Reply(2s Success 152 00:00:15.902.449  0D:00:00.004.351  14120:34.657.41
193 1920680209 1521680.120  TCP: 3326 > 10000 [ACK] Saq=148 Ack=138 Win=65398 [TC.. 54 00:00:16.027.604  00:00:00.103.538  14120:34.812.57
201 1921680209 192168020  ICER: [TCP Retransmission] Request(3): TTD62462-E617-43C.. 167 00:00118.203.648  0D:00:00.147.075  14120:36.988.61
202 1921680120  192.168.0.209  ICER: [TCP Retransmission] Reply(3): Success s0 00:00:18.205633  00:00:00.001.985  14120:36.990.59
203 1921680209 192168020  ICER: [TCP Retransmission] Request(4); 385IEIDF-53F3-4BD.. 128 00:00118.215.416  00:00:00.009.783  14120:37.000.38
204 1921680120  192.168.0.209  ICER: [TCP Retransmission] Reply(4): Success 7 00:00:18.217.305  00:00:00.001.890  14120:37.002.27
205 1521680209 192168020  ICER: [TCP Retransmission] Request(S): 38SIEIDF-SIFI-4BD.. 127 00:00118.217.724  00:00:00.000.418  14120:37.002.69
206 1921680120  192.168.0.209  ICER: [TCP Retransmission] Reply(S): Success 152 00:00:18.222.412  0D:00:00.004.685  14120:37.007.37
210 1521660205 192168020  TCP: 3326 > 10000 [ACK] Seq=408 Ack=287 Win=65249 [TC.. 54 00:00:18.339.955  00:00:00.095.703  14120:37.124.91
230 1921680203 192168020  ICER: [TCP Out-Of-Order] Request(s): 6CDATEBA-3AS2-4858... 167 00:00:20.546.695 000000343061 14120:39.331.66
231 1521660120 1921680209  ICEP: Reply(e) Success s0 00:00:20.543.701  00:00:00.002.006  14120:39.333.66
232 1521660205 1921680120  TCP: 3326 > 10000 [ACK] Seq=521 Ack=313 Win=63223 [TC.. 54 00:00:20.753.879  00:00:00.205.178  14120:39,535.84




Client: 209

Server: 120

